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Maximum : 100 marks 

Time : 2 hours 

1. Maximum service weightage admissible in the case of an voluntary retirement is : 

(A) upto 5 years (B) 20 years 

(C) no weightage admissible (D) none of these 

y~So-ipL v]q-o]-¨OÐ yLz-\-q|¾]¤ AjO-v-h-j}-p-oLp kq-oL-vi] Syvj NkLiLj|U : 

(A)  5 v¡xU vRq (B) 20 v¡xU 

(C)  y~}WL-q|-oLp RvpV-Sã^V C-sæ (D) Cv-RpL-ÐO-o-sæ  

2. Male employees are granted —————— days special casual leave for undergoing 
Vasectomy. 

(A) 10 (B) 5 

(C) 6 (D) 7 

kOqOx ^}v-j¨L¡¨V vÌ|U-W-q-e-¾]jV v]Si-p-oL-WO-Ð-f]jV ——————  h]v-yR¾ 

NkSf|-W WLx~¤ Avi] AjO-v-h]-¨O-ÐO. 

(A) 10 (B) 5 

(C) 6 (D) 7 

3. The primary condition for granting Travelling allowance is that : 

(A) the journey should be in the interest of the superiors 

(B) the journey should be made in public interest 

(C) the journey should be made along with family 

(D) the journey should be made in the office hours only 

pLNfL Asv¢yV j¤WO-Ð-f]-jOç NkLg-o]W v|vò CfLeV  : 

(A)  pLNf SosO-Sh|L-Y-ò-qORa fL¤k-q|-¾]-jL-p]-q]-¨eU 

(B) pLNf RkLfOfL¤k-q|-¾]-jL-p]-q]-¨-eU 

(C) WOaOU-m-S¾L-RaLÕU pLNf R\á-eU   

(D) pLNf KLl}yV yo-p-°t]¤ oLNfU ja-¾-eU 
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4. If the pay reaches the maximum of scale of pay then employees are eligible for : 

(A) stagnation increment (B) advance increment 

(C) one D.A. as increment (D) 
2
1

 D.A. as increment 

 wÒtU kq-oL-vi]  wÒt RØp]s]¤ I¾O-W-pL-ReË]¤ ^}v-j¨L¡¨V  Cj]-ÕrpO-ÐvàVV  
A¡z-f-pOºV : 

(A) ðLS®x¢ v¡Èj-vV (B) Ac~L¢yV C¢NW]Ro£V 

(C)  KqO c].I. C¢NW]Ro£Lp] (D) 
2
1

 c].I. C¢NW]Ro£Lp] 

5. In case where free boarding and lodging are provided then D.A. eligible at the rate of : 

(A) full D.A. (B) 
4
1

 D.A. 

(C) 
2
1

 D.A. (D) none of these 

yT^j| SmLc]-°OU fLo-y-vOU j¤W]-p]-ŸO-RºË]¤ c].I. SpLY|-f : 

(A) kP¡¹-oLp c].I. (B) 
4
1

 c].I. 

(C) 
2
1

 c].I. (D) Cv-RpL-ÐO-o-sæ  

6. Presently the first time bound higher grade is granted on completion of —————— years of 
service. 

(A) 8 (B) 15 
(C) 7 (D) 10 

j]sv]¤  ———— v¡x-°-tORa SyvjU kP¡¾]-pL¨OSÒL¥ Bh|-oLp] mTºV zp¡ 
SNYcV j¤WO-ÐO. 

(A) 8 (B) 15 
(C) 7 (D) 10 

7. An inspector in Co-operative audit department has halted 60 hours inside the headquarters 
as a part of his official duty. The D.A. admissible to this officer is : 

(A) 5 D.A. (B) 4 2
1  D.A. 

(C) 3 D.A. (D) No D.A. 

yz-W-qe KLc]ãV vWO-Õ]Rs KqO C¢Ry×W›¡ fR£ KTSh|LY]W c|PŸ]-pORa nLY-oLp]  
RzcV-W~L¡SŸuVy]¤ 60 oe]¨P¡ j]¡¾].  CT DSh|L-Y-òjV AjO-v-h-j}-p-oLp c].I. : 

(A) 5 c].I. (B) 4 2
1  c].I. 

(C) 3 c].I. (D) c].I. Csæ 
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8. Maximum ceiling for availing commuted leave : 

(A) no ceiling (B) 300 days 
(C) 180 days (D) 400 days 

-W-Ú|P-ŸcV s}vV AjO-v-h]-¨O-Ð-f]-jOç kq-oL-vi] kq]-i] : 

(A) -k-q]-i]-p]-sæ (B) 300 h]v-yU 

(C) 180 h]v-yU (D) 400 h]v-yU 

9. The extended period of service of a teaching staff beyond the period of actual service will 
count for : 

(A) time bound higher grade (B) earned leave 

(C) increment (D) none of the above 

pgL¡À Syvj WLs-p-t-v]-j-ÕOrU KqO AÈ|L-kW ^}v-j-¨L-qORa Syv-j-WL-sL-vi] We-

¨L-¨O-Ð-fV  : 

(A)  yo-p-m-Ì]-f-oLp Dp¡Ð SNYcV (B) -J-¦cV s}vV 

(C)  C¢NW]Ro£V (D) oOWt]¤ kr-´-v-RpL-ÐO-o-sæ 

10. KSR Part I Appendix XII B deals with : 

(A) Leave for study purpose (B) Leave for joining the spouse 
(C) Leave for employment abroad (D) None of the above 

RW.IyV.B¡. nLYU I AjO-mÌU XII m] RRWWLq|U R\áO-Ð-fV : 

(A)  kb-j-¾]-jLp] Av-i] (B) kËL-t]-pO-oLp] S\qO-Ð-f]jV Av-i] 

(C) v]Sh-w¾V S^Ls]¨V Av-i] (D) oOWt]¤ kr-´-v-RpL-ÐO-o-sæ 

11. Maximum DCRG admissible is : 

(A) 7,00,000  
(B) 21,00,000 
(C) 14,00,000  

(D) 16 2
1  times of the emoluments subject to a maximum of 17,00,000  

AjO-v-h-j}poLp kq-oL-vi] c]y]B¡^] : 

(A) 7,00,000  
(B) 21,00,000 
(C) 14,00,000 

(D) kq-oL-vi] 17,00,000&jV v]Si-p-oLp] 16 2
1 fve wÒ-tU 
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12. Paternity leave should be availed within : 

(A) one year (B) one month 
(C) three months (D) two years 

k]fQ-f~-A-v-i] ————— vRq NkSpL-^-j-RÕ-aO-¾LU. 

(A)  KqO v¡xU (B) KqO oLyU 

(C)  oPÐV oLyU (D) qºV v¡xU 

13. The percentage of mileage allowance or D.A. admissible while an employee is travelling in 
hill tract is : 

(A) 25 (B) 10 
(C) 30 (D) 100 

KqO ^}v-j-¨Lq¢ os-SpLq SoX-sp]¤ pLNf R\áOSÒL¥ AjO-v-h-j}-p-oLp RRoSs^V 
Asv¢y]R£ wf-oLjU ARsæË]¤ c].I. : 

(A) 25 (B) 10 
(C) 30 (D) 100  

14. Officers are divided into —————— categories for the purpose of T.A. calculation. 

(A) 5 (B) 4 
(C) 2 (D) 7 

 a].I. We-¨L-¨O-Ð-f]-jO-Svº] DSh|L-Y-òRq —————— v]nL-Y-°-tLp]  
f]q]-\ÿ]-q]-¨O-ÐO. 

(A) 5 (B) 4 
(C) 2 (D) 7 

15. If an employee is certified as incapacitated to continue in service he will be eligible for : 

(A) compensation pension (B) superannuation pension 
(C) invalid pension (D) voluntary pension 

 KqO ^}v-j-¨Lq¢ Syv-j¾]¤ fOaqL¢ Wu]-v]-sæL-¾-pL-tL-Re-ÐV yLƒ|-RÕ-aO-¾]pL¤  
ApL¥¨V  ————— jV A¡z-f-pO-ºV. 

(A)  SWLÒ¢Syx¢ Rk¢x¢ (B) yPÕ¡ BjO-Svx¢ Rk¢x¢ 

(C) C¢vL-s]cV Rk¢x¢ (D) RvLt£r] Rk¢x¢ 

16. The charge allowance can be paid for a maximum period of : 

(A) one year (B) 6 months 
(C) 4 months (D) 3 months 

kq-oL-v-i] ————— WLs-p-t-v]-Ss¨V \L¡²V Asv¢yV j¤WLU. 

(A)  1 v¡xU (B) 6 oLyU 

(C) 4 oLyU (D) 3 oLyU 
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17. “Pension is rounded off to the next higher rupees”. Mark suitable comment for this  
statement : 

(A) the statement is false 
(B) the statement is partially true 
(C) the statement is true as this is mentioned in Rule 46 Part III KSR 
(D) the statement is true as this is mentioned in Rule 58 Part III KSR 

 ‘‘Rk¢x¢ AaO¾ Dp¡Ð qPk-p]-Ss¨V oLãO-ÐO’’.  CT NkñL-v-jàV AjO-SpL-^|-oLp  
An]-NkLpU  Aa-pL-t-RÕ-aO-¾OW :  

(A)  NkñL-vj RfãL-eV  

(B) NkñL-vj nLY]-W-oLp] wq]-pL-eV 

(C) RWI-yVB¡,  \ŸU 46 nLYU III --&¤ kqLo¡w]-\ÿ]-q]-¨O-Ð-f]jL¤ NkñL-vj  
wq]-pL-eV  

(D) RWI-yVB¡,  \ŸU 58 nLYU III --&¤ kqLo¡w]-\ÿ]-q]-¨O-Ð-f]jL¤ NkñL-vj  
wq]-pL-eV 

18. The minimum number of years service required for availing commuted leave is : 

(A) three (B) one 
(C) two (D) 6 months 

 WÚ|P-SŸ-ãcV s}vV sn]-¨O-Ð-f]jV Bv-w|-oLp JãvOU WOr´ v¡xR¾ Syv-jU : 

(A)  oPÐV (B) KÐV 

(C)  qºV (D) 6  oLyU 

19. The Retirement age of a full time contingent employee in State service is : 

(A) 70 years (B) 56 years 
(C) 65 years (D) 58 years 

yUòLj y¡vÿ}-y]Rs KqO oOuOv¢ yop ^}v-j-¨LqR£ v]q-o]¨¤ NkLpU 

(A) 70 v¡xU (B) 56 v¡xU 

(C) 65 v¡xU (D) 58 v¡xU 

20. The maximum portion of pension that can be commuted as per KSR Part III is : 

(A) 20% (B) 30% 
(C) 40% (D) 100% 

RWI-yVB¡  nLYU III NkWLqU WÚ|PŸO R\áL¢ Wu]-pO-Ð Rk¢xR£ kq-oL-vi] nLYU : 
(A) 20% (B) 30% 

(C) 40% (D) 100% 
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21. An LDC working in Swaraj Bhavan TVPM was transferred to an office in Vikas bhavan 
situated 3 kms away on public interest. The officer was relieved on 25/5/2023 A.N. On which 
date he should join for duty? 

(A) 27.5.2023 F.N. (B) 26.5.2023 F.N. 

(C) 29.5.2023 F.N. (D) none of these 

y~qL^V nv¢ a]v]k]-I-Ú]¤  S^Ls] R\áOÐ KqO I¤.c].y]. Rp RkLfOfL¤Õ-q|-Nk-WLqU 

3 W]SsL-o}ã¡ AW-Rs-pOç v]WLyV nv-j]Rs KqO KLl}-y]-Ss¨V oLã]. 25/5/2023 A.N. jV 

DSh|L-Y-òRj SoL\]-Õ]-\ÿO. JfV f}á-f]-p]-sLeV ASÇzU c|PŸ]-¨Lp] S\Sq-º-fV? 

(A) 27.5.2023 F.N. (B) 26.5.2023 F.N. 

(C) 29.5.2023 F.N. (D) Cv-RpL-ÐO-o-sæ 

22. A senior grade auditor in Kerala State Audit Department had applied for 10 days casual 
leave, but the superior officer had denied casual leave and allowed earned leave for 10 days. 
Mark a suitable comment of the Superior officer : 

(A) The act was correct and in accordance with the rules 

(B) The act was incorrect 

(C) Casual leave can be converted into commuted leave only 

(D) None of the above 

SWqt SðãV KLc]ãV c]ÕL¡ŸVRo£]Rs KqO y}j]p¡ SNYcV KLc]ã¡ 10 h]v-yR¾  

WLx~¤ s}v]-jV  ASkƒ]\ÿ]-qO-ÐO-Rv-Ë]sOU  SosO-Sh|L-Yò¢ WLx~¤ s}vV j]q-y]-¨O-WpOU 

10 h]v-y-S¾¨V  J¦-cV s}vV AjO-v-h]-¨O-WpOU R\pÅ]-qO-ÐO. yOÕ}-q]p¡ KLl}-y-rORa D\]-

f-oLp KqO An]-NkLpU Aa-pL-t-RÕ-aO-¾OW : 

(A) j]poU wq]pOU j]p-o°¥¨-jO-yQ-f-vO-oL-p]-qOÐO 

(B) j]poU RfãL-p]-qO-ÐO 

(C) WLx~¤ s}vV WÚ|P-SŸ-ãcV s}vV oLNf-oLp] kq]v¡¾jU R\áL¢ Wu]-pOU  

(D) oOWt]¤ kr-´-v-RpL-ÐO-o-sæ 

23. The minimum service required for granting DCRG : 

(A) 10 years (B) 30 years 

(C) 33 years (D) 5 years 

c]y]B¡^] AjO-v-h]-¨O-Ð-f]jV Bv-w|-oLp JãvOU WOr´ Syv-jU : 

(A) 10 v¡xU (B) 30 v¡xU 

(C) 33 v¡xU (D) 5 v¡xU  
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24. An assistant is transferred to Kerala House in Delhi. The maximum joining time admissible 
is : 

(A) 30 days (B) 8 days 

(C) 7 days (D) 10 days 

 KqO Ay]ð£]Rj  c¤z]-p]Rs SWqt zTy]Ss¨V oLãO-ÐO. S^Lp]£V  R\áL¢ Aj-Ov-h-j}-

p-oLp kq-oL-vi] yo-pU : 

(A) 30 h]v-yU (B) 8 h]v-yU 

(C) 7 h]v-yU (D) 10 h]v-yU  

25. If departmental enquiry or proceedings is pending against a retired official then he is eligible 
only for : 

(A) superannuation pension (B) invalid pension 

(C) provisional pension (D) none of these 

 v]q-o]\ÿ DSh|L-Y-ò-Rj-f]Rq vWO-ÕO-fs ASj~-x-eSoL ja-k-a]-WStL ja-¨O-ÐO-RºË]¤

 ApL¥¨V  fLRu-Õ-r-pO-Ð-vàV oLNfSo A¡z-f-pO-çP : 

(A)  yPÕ¡ BjO-Svx¢ Rk¢x¢ (B) C¢vL-s]cV Rk¢x¢ 

(C)  fL¤¨L-s]W Rk¢x¢ (D) Cv-RpL-ÐO-o-sæ 

26. A Deputy Commissioner on leave is summoned before court in connection with a GST case.  
Is he eligible to get T.A.? 

(A) Yes, he is eligible 

(B) No, he is not eligible 

(C) Eligible only for 2
1  D.A. 

(D) Eligible only for 4
1  D.A. 

 KqO ^].IyV.a]. SWyO-oLp] mÌ-RÕŸV Av-i]-p]-sOç Rck|PŸ] WÚ}-x-eRr SWLa-f]p]¤ 

v]t]-\ÿO-v-qO-¾O-ÐO. ApL¥¨V  a].I. sn]¨L¢ A¡z-f-pO-SºL? 

(A) ARf, Av¢ A¡zjL-eV  

(B) Csæ. Av¢ A¡z-j-sæ 

(C)  2
1  c].I. àV oLNfU A¡z-jL-eV  

(D) 4
1  c].I. àV oLNfU A¡z-jL-eV 
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27. Calculate the pension payable from the following information : 

Total service  27 years 

Non-qualifying service  1 year 

Total emoluments for the last 10 months  7,50,000 

(A) 75,000 (B) 32,500 

(C) 60,000 (D) 44,500 

fLRu-Õ-r-pOÐ v]v-q-°-t]¤ j]ÐV Aa-Sàº Rk¢x¢ We-¨L-¨O-W : 

RoL¾-Sy-v-jU  27 v¡xU 

SpLY|-f-p]-sæL¾ Syv-jU  1 v¡xU 

Wu]´ 10  oLyR¾ RoL¾U Svf-jU  7,50,000 

(A) 75,000 (B) 32,500 

(C) 60,000 (D) 44,500 

28. The retirement age of employees who enter into service on or after 1.4.2013 : 

(A) 60 years (B) 65 years 

(C) 58 years (D) 56 years 

 1.4.2013&SjL Af]-jO-Sw-xSoL y¡vÿ}y]¤ NkSv-w]-¨OÐ ^}v-j-¨L-qORa v]q-o]¨¤  

NkLpU : 

(A) 60 v¡xU (B) 65 v¡xU 

(C) 58 v¡xU  (D) 56 v¡xU 

29. For the calculation of admissible joining time, Sundays are usually : 

(A) included 

(B) included if the transfer is beyond 50 kms 

(C) excluded 

(D) excluded in the case of part time employees only  

S^Lp]£V yopU We-¨L-¨O-Ð-f]jV, `Lp-rL-uV-\W¥ yLiL-qepLp] :  

(A) D¥RÕ-aO-¾]-p]-q]-¨O-ÐO  

(B) NaL¢ó¡ 50 W]SsL-o}-ã-r]jO oOW-t]-sL-ReË]¤ D¥RÕ-aO-¾]-p]-q]-¨O-ÐO  

(C) Ku]-vL-¨]-p]-q]-¨O-ÐO    

(D) kL¡ŸVRRaU ^}v-j-¨LqORa WLq|¾]¤ oLNfU Ku]-vL-¨]-p]-q]-¨O-ÐO 
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30. The maximum period of service considered for DCRG is : 

(A) 10 years (B) 5 years 
(C) 30 years (D) 33 years 

c]y]B¡^]àV kq]-Y-e]-¨OÐ kq-oL-vi] Syvj WLs-p-t-vV : 

(A) 10 v¡xU (B) 5 v¡xU 
(C) 30 v¡xU (D) 33 v¡xU  

31. D.A is inadmissible if the halt at a particular place exceeds ————— days without the 
sanction of the competent authority. 

(A) 20 (B) 5 
(C) 10 (D) No limit 

SpLY|-f-pOç Ai]-WL-q]-pORa AjO-o-f]-p]-sæLRf KqO NkSf|W òs¾V f°O-ÐfV ———— 
h]v-y-°-t]¤ WPaO-f-sL-ReË]¤  c].I. AjO-v-h-j}-p-o-sæ. 

(A) 20 (B) 5 
(C) 10 (D) kq]-i]-p]-sæ  

32. Commuted leave is the conversion of which leave? 

(A) Half pay (B) Earned 
(C) Special casual  (D) LWA 

WÚ|P-ŸcV s}vV IÐfV JfV s}v]R£ kq]v¡¾-j-oL-eV? 

(A)  zLlV Sk (B) J¦-cV 
(C) NkSf|W WLx~¤ (D) I¤c-mæ|O-I 

33. An auditor in Kerala State Audit Department working in Thiruvananthapuram has to stay 
in Eranakulam for 14 days in connection with the performance of official duties. How will you 
calculate the D.A admissible for this auditor? 

(A) Full D.A for the first 7 days and 3/4 for the next 7 days 
(B) Full D.A for the first 10 days and 1/2 for the next 4 days 
(C) Full D.A for the first 10 days and 3/4 for the next 4 days 
(D) Full D.A  for 14 days 

f]qO-v-j-Í-kO-q¾V S^Ls] SjL¨OÐ SWqt SðãV KLc]ãV c]ÕL¡ŸVRo£]Rs KqO KLc]ã¡ 
KTSh|LY]W \Oo-f-sW¥ j]¡vÿ-z]-¨O-Ð-fO-oLp] mÌ-RÕŸ 14 h]vyU Ir-eL-WO-t¾V fLo-
y]-¨-eU. CT KLc]ã¡¨V y~}WL-q|-oLp c].I. j]°¥ I°Rj We-¨L-¨OU? 

(A)  Bh|R¾ 7 h]v-y-S¾¨V  c].I. oOuO-v-jLpOU AaO¾ 7 h]v-y-S¾¨V  
3/4 c].I. DU jäOÐO 

(B)  Bh|R¾ 10 h]v-y-S¾¨V  c].I. oOuO-v-jLpOU AaO¾ 4 h]v-y-S¾¨V  
1/2 c].I. DU jäOÐO 

(C)  Bh|R¾ 10 h]v-y-S¾¨V  c].I. oOuO-v-jLpOU AaO¾ 4 h]v-y-S¾¨V  
3/4 c].I. DU jäOÐO 

(D) 14 h]v-y-S¾¨V c].I. jäO-ÐO 
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34. Which among the following fixation rule is applicable in the case of same scale promotion? 

(A) Rule 30 Part I KSR  
(B) Rule 28 Part I KSR 
(C) Rule 28 A Part I KSR  
(D) Rule 37 A Part I KSR 

yoLj- RØp]¤ NkSoLxR£ WLq|¾]¤ fLRu-Õ-r-pOÐ j]p-o-°t]¤  JfLeV mLi-W-oL-WO-
Ð-fV? 

(A) rP¥ 30 nLYU  I RWI-yVB¡  

(B) rP¥ 28 nLYU  I RWI-yVB¡ 

(C) rP¥ 28 A nLYU  I RWI-yVB¡ 

(D) rP¥ 37 A nLYU   I RWI-yVB¡ 

35. Is passing of department necessary for granting time bound higher grade : 

(A) Yes, it is necessary 
(B) No, it is not necessary 
(C) If is at the discretion of the employer 
(D) None of the above 

j]é]f yo-p-k-q]-i]-¨Oç]¤ Dp¡Ð SNYcV j¤WO-Ð-f]jV vWOÕV kLyV R\Sá-ºfV  
Bv-w|-oL-SeL?  

(A)  ARf, AfV Bv-w|-oL-eV  

(B) Csæ, AfV Bv-w|-o]-sæ 

(C)  RfLu]-sO-a-o-W-tORa v]Sv-\-jL-i]-WL-q-¾]-sL-ReË]¤  

(D) oOWt]¤ kr-´-v-RpL-ÐO-o-sæ 

36. KSR is governed by : 

(A) Kerala local fund Audit Act 1996 
(B) Indian Penal Code 1861 
(C) Kerala Public Service Act 1968 
(D) None of these  

RWI-yVBr]Rj nq]¨OÐfVV : 

(A)  1996, SWqt SsL¨¤-lºV KLc]ãV BWV-ãV  

(B) 1861, CÍ|¢ k}j¤ SWLcV 

(C)  1968, SWqt kmæ]WV y¡vÿ}yV BW›V  

(D) Cv-RpL-ÐO-o-sæ  
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37. An officer had put in a total qualifying service of 29 years and 179 days. Then for the purpose 
of pension calculation qualifying service can be calculated as : 

(A) 30 years (B) 29 years 

(C) 29 2
1 years (D) None of these 

KqO DSh|L-Yò¢ 29 v¡xvOU 179 h]vyvOU RoL¾ SpLY|fL y¡vÿ}yV ja-¾].  
Rk¢x¢ We-¨L-¨O-Ð-f]R£ Bv-w|-¾]-jLp] SpLY|-fL-Sy-vjU  C°Rj 
We-¨L-¨LU : 

(A) 30 v¡xU (B) 29 v¡xU 

(C) 29 2
1  v¡xU (D) Cv-RpL-ÐO-o-sæ 

38. For contingent employees the Maximum earned leave that can be earned in an year is : 

(A) 30 (B) 33 3
1  

(C) 33 (D) 15 

Wº]^£V ^}v-j¨L¡¨V KqO v¡x-¾]-jOç]¤ sn]-¨L-vOÐ kq-oL-vi] J¦cV s}vL-eV : 

(A) 30 (B) 33 3
1  

(C) 33 (D) 15  

39. The maximum period an employee is allowed to continue on deputation is : 

(A) 5 years (B) 10 years 

(C) 6 months  (D) 2 years 

KqO ^}v-j-¨L-qjV Rck|P-SŸ-xj]¤ fOaqL¢ AjO-v-h]-¨OÐ kq-oL-vi] WLs-p-t-vV : 

(A) 5 v¡xU (B) 10 vxU 

(C) 6 oLyU  (D) 2 v¡xU 

40. If the distance from the headquarters and the outstation is more than ————— kilometers 
then the officer concerned can perform the journey on the day before and return journey on 
the next day of official business. 

(A) 32 (B) 50 

(C) 100 (D) None of these 

BòL-j¾V j]ÐOU KTŸVSð-xj]¤ j]ÐOoOç hPqU —————— W]SsL-o}-ãr]¤ WPaO-f-
sL-ReË]¤ mÌ-RÕŸ DSh|L-YòjV fSs-h]-vyU pLNf ja-¾LjOU AaO-¾-h]-vyU  
KTSh|L-Y]W S^Ls]-¨V oa-°LjOU Wu]-pOU. 

(A) 32 (B) 50 

(C) 100 (D) Cv-RpL-ÐO-o-sæ  
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41. Which among the following forms the base of pension calculation? 

(A) Total emoluments 
(B) Last months basic pay 
(C) Average emoluments for last 10 months  
(D) Average emoluments for the last financial year 

fLRu-Õ-r-pO-Ð-vp]¤ JfLeV Rk¢x¢ We-¨O-WP-Ÿs]R£ Aa]-òL-jU? 

(A) RoL¾U Svf-jU  

(B) Wu]´ oLyR¾ Aa]-òLj wÒ-tU 

(C) Wu]´ 10 oLyR¾ wqL-wq] wÒtU 

(D) Wu]´ yLÒ-¾]W v¡xR¾ wqL-wq] Svf-jU 

42. Leave account contains details regarding : 

(A) Earned leave (B) Casual leave 
(C) Maternity leave (D) Paternity leave  

s}vV A¨Tº]¤ CfO-oLp] mÌ-RÕŸ v]w-hLU-w°¥ Aa-°]-p]-q]-¨OÐO : 

(A)  J¦cV s}vV (B) WLx~¤  s}vV 

(C)  Nky-vL-v-i] (D) k]fQ-f~- A-v-i] 

43. Which among the following statement is false with regard to compensation leave? 

(A) Maximum leave that can be availed in a calendar year is 15 
(B) It is not admissible to head of the office 
(C) It should be availed within 3 months from the holiday in which he had worked  
(D) None of these 

jì-k-q]-zLq Av-i]-pO-oLp] mÌ-RÕŸV fLRu-Õ-r-pOÐ NkñL-v-j-Wt]¤ JfLeV RfãV? 

(A) KqO Wsº¡ v¡x¾]¤ sn]-¨L-vOÐ kq-oL-vi] Avi] 15 BeV  

(B) KLl}yV SoiL-v]¨V CfV y~}WL-q|-o-sæ 

(C) ASÇzU S^Ls] R\pÅ Avi] h]v-y°¥ oOf¤ 3 oLy-¾]-jOç]¤ CfV NkSpL-^-
j-RÕ-aO-¾-eU   

(D) Cv-RpL-ÐO-o-sæ 

44. The present rate of commutation of pension is : 

(A) 35% (B) 40% 
(C) 25% (D) 50% 

j]s-v]Rs Rk¢x¢ WÚ|P-SŸxR£ j]q-¨V : 
(A) 35% (B) 40% 
(C) 25% (D) 50% 



A DE-07/2023/001 
[P.T.O.] 

15

45. A village officer worked at outstation for 10 months had received transfer to home station 
Kollam on request. Is he eligible for transfer T.A.? 

(A) No, he is not eligible 
(B) Yes, he is eligible 
(C) It is based on the decision of the concerned Deputy Collector 
(D) None of these 

10 oLyU KTŸV-Sð-xj]¤ S^Ls] R\pÅ]-qOÐ KqO v]Ssæ^V KLl}yrORa An|¡Àj oLj]\ÿV 
RWLsæU SzLU Sðx-j]-Ss¨V òsU oLãU sn]-\ÿO-. ASÇzU a].I. NaL¢ó-r]jV  
SpLY|-jL-SeL?  

(A)  Csæ, A¡z-f-p]-sæ  

(B) ARf, A¡z-f-pO-ºV 

(C)  CfV mÌ-RÕŸ Rck|PŸ] Wt-W›-rORa f}qO-oL-jR¾ Aa]-òL-j-oL-¨]-pO-ç-fLeV 

(D) Cv-RpL-ÐO-o-sæ 

46. Boy service means : 

(A) Service prior to the age of 16 (B) Service prior to the age of 18 
(C) Service prior to the age of 14 (D) None of these 

B¦-WO-Ÿ]-W-tORa SyvjU IÐL¤ : 

(A)  16 vp-ô]jV oOÒOç Syv-jU (B) 18 vp-ô]jV oOÒOç Syv-jU 

(C) 14 vp-ô]jV oOÒOç Syv-jU (D) Cv-RpL-ÐO-osæ  

47. After a continuous halt of ten days the halting place shall be treated as : 

(A) Head quarters (B) Main office 
(C) Temporary head quarters (D) Permanent head quarters 

k¾O h]vyU fOa¡\ÿ-pLp] j]¡¾]-p-f]-jO-Sw-xU, j]¡¾OÐ  òsU ————— 
Bp] We¨L-¨OU : 

(A)  RzcV W~L¡SŸ-uõV (B) Rop]¢ KLl}-yV 

(C)  fL¤¨L-s]W RzcV W~L¡SŸ-uõV (D) ò]qU RzcV W~L¡SŸ-uõV 

48. A Panchayat Secretary travelled in department vehicle and returned to headquarters  within 
24 hours. The maximum amount he is eligible in the form of I.C. and D.A. is : 

(A) Maximum one D.A. (B) Maximum two D.A. 
(C) Minimum one D.A. (D) No limit 

KqO kμL-p¾V RyNW-Ÿr] vWOÕV vLz-j¾]¤ pLNf R\áO-WpOU 24 oe]-¨P-r]-jOç]¤ 
RzcV W~L¡SŸ-uõ]Ss¨V oa-°O-WpOU R\pÅO. RI.y]. IÐ qPk¾]¤ ApL¥¨V A¡z-f-
pOç kq-oL-vi] fOWpOU c].I. pOU INf? 

(A)  kq-oL-vi] KqO c].I. (B) kq-oL-vi] qºV c].I. 

(C) WOr-´fV KqO c].I. (D) kq]-i]-p]-sæ  
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49. ————— leave is not recognised as a leave. 

(A) Earned leave  (B) Commuted leave 

(C) Half pay leave (D) Casual leave  

—————— Avi] KqO Av-i]-pLp] AUY}-W-q]-¨-RÕ-aO-Ð]-sæ. 

(A)  J¦cV s}vV (B) WÚ|P-ŸcV s}vV 

(C)  zLlV Sk s}vV (D) WLx~¤ s}vV 

50. Child adoption leave is granted for ————— days. 

(A) 90 (B) 180 

(C) 60 (D) 120 

WOŸ]-WRt hR¾-aO¨L¢ ————— h]v-y-S¾-¨V Av¡¨V AjO-v-h]-¨O-ÐO. 

(A) 90 (B) 180 

(C) 60 (D) 120  

51. If the date of joining is beyond ————— months then the date of advice will not be taken as 
seniority but the joining date will count for seniority.  

(A) 3 months (B) 6 months 

(C) 2 months (D) One month 

S\qOÐ f}áf] —————  oLy°¥¨-ÕO-r-oL-ReË]¤, Dk-Sh-wWR£ f}áf] y}j]-SpL-
r]-ã]-pLp] We-¨L-¨]-sæ, IÐL¤ S\qOÐ f}áf] y}j]-SpL-r]-ã]-pLp] We-¨L-¨OU. 

(A) 3 oLyU (B) 6 oLyU 

(C) 2 oLyU (D) KqO oLyU  

52. Which among the following do not count for increment? 

(A) Overstayal of joining time regularized as LWA 

(B) Suspension period not treated as duty  

(C) LWA under Appendix XII A 

(D) All the above 

fLRu-Õ-r-pO-Ð-vp]¤  JfLeV C¢NW]Ro£Lp] We-¨L-¨L-¾-fV? 

(A)  S\qOÐ yo-p¾]R£ KLv¡RRð¤ I¤.cmæ|O.I. Bp] NWo}-W-q]\ÿO 

(B) c|PŸ]-pLp] We-¨L-¨L¾ yRy×¢x¢ WLs-p-t-vV 

(C) AjO-mÌU XII I NkWLqU I¤.cmæ|O.I. 

(D) So¤Õ-r-´-v-Rp-sæLU 
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53. Which among the following is a special leave? 

(A) Earned leave (B) Leave not due 

(C) Maternity leave (D) Commuted leave  

fLRu-f-Ð]-q]-¨O-Ð-vp]¤ JfLeV Ry×x¢ s}vV? 

(A) J¦cV s}vV (B) WOa]-ê]-W-p]-sæL¾ s }vV 

(C) Nky-vL-v-i] (D) pLNfL-v]-s-¨V  

54. A vacation department staff performed 20 days duty on a total vacation period of 60 days. 
Mention the number of earned leave he will earn : 

(A) 10 days (B) 20 days 

(C) 60 days (D) None of the above  

KqO Av-i]-¨Ls c]ÕL¡ŸVRo£V ðLlV 60  h]v-yR¾ RoL¾U Av-i]-¨L-s¾V  

20 h]v-yR¾ c|PŸ] j]¡vÿ-z]-\ÿO. Av¢ yÒL-h]-¨OÐ J¦cV s}v]R£ I¹U INf? 

(A) 10 h]v-yU (B) 20 h]v-yU 

(C) 60 h]v-yU (D) So¤Õ-r-´-v-RpL-ÐO-o-sæ 

55. Exgratia pension is granted to a pensioner who retire from service without completing  
—————  year of qualifying service. 

(A) 10 (B) 5 

(C) 30 (D) 20 

————— SpLY|fpOç Syv-jv¡xU kP¡¾]-pL-¨LRf y¡vÿ}y]¤ j]ÐV v]q-o]-

¨OÐ Rk¢x¢WL¡¨V IWõV-SNYx| Rk¢x¢ jäO-ÐO. 

(A) 10 (B) 5 

(C) 30 (D) 20  

56. The maximum period of LWA under Appendix XII B is limited to ————— years during the 
entire period of service. 

(A) 20 (B) 5 

(C) 10 (D) No limit 

AjO-mÌU XII m]&jV  W}u]-sOç I¤c-mæ|OI pORa kq-oL-vi] WLs-p-tvV Syv-j¾]R£ 

oOuOv¢ WLs-p-t-v]-RspOU  ————— v¡x-°-tLp] kq]-o]-f-RÕ-aO-¾]-p]-q]-¨O-ÐO. 

(A) 20 (B) 5 

(C) 10 (D) kq]-i]-p]-sæ  
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57. A grade I officer is accompanied by his wife and three children aged 9 years, 11 years and  
12 years during a transfer journey by train for the calculation of transfer T.A. which among 
the following statement is true? 

(A) Only 2 children are eligible for T.A. 

(B) Children are not eligible for T.A. 

(C) Officer, wife and three children are eligible for T.A.  

(D) Wife is not eligible for T.A. 

RNap]j]¤ KqO NaL¢ó¡ pLNfp]¤ KqO SNYcV I DSh|L-Yò¢ nLq|-RppOU 9, 11, 12 vpôV 

NkLp-oOç oPÐV o¨-RtpOU  AjO-Y-o]-¨O-ÐO. Cf]¤ B¡¨LeV a].I. sn]¨OW?  

fLRu-Õ-r-pOÐvp]¤ JfLeV wq]? 

(A) qºV WOŸ]W¥¨O oLNfSo a].I. àV A¡z-f-pOçP 

(B) WOŸ]W¥¨V a].I. sn]¨L¢ A¡z-f-p]-sæ  

(C) KLl}y¡, nLq|, oPÐV WOŸ]W¥ IÐ]v¡¨V a].I. sn]¨L¢ A¡z-f-pO-ºV  

(D) nLq|àV a].I. sn]¨L¢ A¡z-f-p]-sæ 

58. Calculate the qualifying service for  pension  

Total service 34 years of these : 

1. 3 years suspension period regularised as LWA 

 2. LWA on medical grounds 2 years  

 3. LWA on non medical grounds 4 years 

(A) 29 years (B) 27 years 

(C) 34 years (D) 28 years 

Rk¢x-j]-Ss-¨Oç SpLY|fL SyvjU We-¨L-¨O-W : 

Cf]¤ 34 v¡xR¾ RoL¾U Syv-jU 

1. 3 oPÐV v¡xR¾ yRy×¢x¢ WLs-p-tvV  LWA Bp] AUY}-W-q]-\ÿO 

  2. Roc]¨¤ WLq-e-°tL¤ LWA 2 v¡xU   

 3. SjL¦&Roc]¨¤ WLq-e-°tL¤ LWA 4 v¡xU  

(A) 29 v¡xU (B) 27 v¡xU 

(C) 34 v¡xU (D) 28 v¡xU 
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59. Which among the holidays are excluded in the calculation of joining time? 

(A) All public holidays  

(B) Sundays and Second Saturdays  

(C) Sundays only   

(D) Sundays and fourth Saturdays 

S\qOÐ yo-p¾]R£ We-¨O-WP-Ÿs]¤ Avi] h]v-y-°-t]¤ JfLeV Ku]-vL-¨]- 

p]-q]-¨O-Ð-fV? 

(A)  IsæL RkLfO Avi] h]v-y-°-tOU  

(B) `Lp-rL-uV-\pOU qºLU wj]-pL-uV-\-pOU 

(C)  ̀ Lp-rL-uV-\ oLNfU  

(D) `Lp-rL-uV-\pOU jLsLU wj]-pL-uV-\-pOU 

60. Advance increment can be sanctioned only by : 

(A) The government  (B) A.G 

(C) Director  (D) None of these  

Ac~L¢yV C¢NW]Ro£V fLRu-Õ-r-pO-Ð-vàV oLNfSo AjO-v-h]¨L¢ Wu]-pP : 

(A)  y¡¨L¡ (B) I.^]. 

(C)  cp-rW›¡ (D) Cv-RpL-ÐO-o-sæ 

61. Special casual leave can be combined with other kind of leave. Mark suitable comment for 
this statement : 

(A) The statement is wrong 

(B) The statement is correct  

(C) Its applicable only for attending international championship  

(D) Applicable only for attending national championship 

NkSf|W WLx~¤ s}vV oãV fq-¾]-sOç Av-i]-pO-oLp] yUSpL-^]-Õ]-¨LU. CT NkñL-v-jàV 

AjO-SpL-^|-oLp An]-NkLpU Aa-pL-t-RÕ-aO-¾O-W : 

(A)  NkñL-vj RfãL-eV  

(B) NkñL-vj wq]-pL-eV 

(C)  CfV ANÍL-qLNì \LÒ|¢x]Õ]¢ kRË-aO-¨O-Ð-f]jV oLNfSo mLi-W-oLWP 

(D) Shw}p \LÒ|¢x]Õ]¤ kRË-aO-¨O-Ð-f]jV oLNfU mLi-W-oL-eV  
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62. Which among the following statement is false in the case of leave for Miscarriage? 

(A) Its granted for 42 days  
(B) It can be sanctioned for more than one occasion  
(C) It is counted for the period of declaration of probation  
(D) It is reckoned for earning earned leave 

Y¡n-±]-Nh-¾]-jOç Av-i]-pORa WLq|¾]¤ fLRu-Õ-r-pOÐ NkñL-v-j-Wt]¤ JfLeV RfãV? 

(A) CfV 42  h]v-y-S¾¨V AjO-v-h]-\ÿO   

(B) KÐ]-s-i]WU Av-y-q-°t]¤ CfV AjO-v-h]-¨LU 

(C) RNkLSmx¢ NkX|L-kj WLs-p-t-v]-Ss¨LeV CfV We-¨L-¨O-Ð-fV  

(D) CfV J¦cV s}vLp] We-¨L-¨O-ÐO 

63. For enforced halt —————  D.A is eligible on the second day of halt. 

(A) No D.A (B) 2
1  

(C) Full D.A (D) 4
3  

j]¡m-Ì]foLp]  j]¡¾-OÐ-f]jV —————  c].I.àV  zL¥Ÿ]R£ qºLU h]vyU A¡z-
f-pO-ºV.     

(A)  c].I. Csæ (B) 2
1   

(C)  oOuOv¢ c].I. (D) 4
3   

64. Higher rate of family pension is —————  percentage of the last basic pay. 

(A) 50 (B) 30 
(C) 20 (D) 10 

WOaOUm Rk¢xR£ Dp¡Ð j]q¨V Av-yL-jR¾ wÒ-t¾]R£ ————— 
wf-oL-j-oL-eV. 

(A) 50 (B) 30 
(C) 20 (D) 10  

65. If an employee died on the first year of service then the admissible DCRG will be : 

(A) five times of last emoluments  (B) two times of last emoluments 
(C) no DCRG admissible  (D) twelve times of last emoluments 

KqO ^}v-j-¨Lq¢ Syv-j¾]R£ Bh|v¡x¾]¤ oq]-¨O-W-pL-ReË]¤ AjO-v-h-j}-p-oLp 
c]y]B¡^]  : 

(A)  Av-yLj wÒ-t¾]R£ AμO oa-°V  

(B) Av-yLj wÒ-t¾]R£ qºO oa-°V 

(C) c]y]B¡^]  AjO-v-h-j}-p-o-sæ  

(D) Av-yLj wÒ-t¾]R£ kNÍ-ºV oa-°V 
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66. What is the maximum ceiling proposed for provisional pension? 

(A) No ceiling proposed  (B) 75% of the pension  
(C) 90% of the pension (D) None of these  

fL¤¨L-s]W Rk¢xjV j]¡SÇ-w]-\ÿ]-ŸOç kq-oL-vi] kq]i] INf-pL-eV? 

(A)  kq]i] j]¡SÇ-w]-\ÿ]-Ÿ]-sæ (B) Rk¢xR£ 75% 

(C)  Rk¢xR£ 90% (D) Cv-RpL-ÐO-o-sæ 

67. Which among the following leave can be granted while an employee is under suspension? 

(A) Earned leave (B) Appendix XII B leave  
(C) Leave preparatory to retirement   (D) None of the above 

KqO ^}v-j-¨Lq¢ yRy×¢x-j]-sL-p]-q]-¨OSÒL¥ fLRu-Õ-r-pOÐ JfV Av-i]-pLeV  

AjO-v-h]-¨O-W? 

(A) J¦cV s}vV  

(B) AjO-mÌU  XII m] Av-i] 

(C)  v]q-o]-¨-s]-jOç fáL-Rr-aO-Õ]-jL-pOç Av-i]  

(D) So¤Õ-r-´-v-RpL-ÐO-o-sæ 

68. Special disability leave is granted for a maximum period of : 

(A) No maximum limit (B) 24 months 
(C) 36 months (D) 6 months 

kq-oL-vi] ———— WLs-p-t-v]-Ss-¨V  NkSf|W  RRvW-s| Avi] AjO-v-h]-\ÿ]-q]-¨OÐO. 

(A)  kq-oL-vi] kq]-i]-p]-sæ (B) 24 oLyU 

(C) 36 oLyU (D) 6 oLyU 

69. In which part of Kerala service rules details regarding Travelling allowances are dealt with : 

(A) Volume II Part II (B) Volume I Part II 

(C) Volume I Part I (D) Volume II Part I 

SWqt y¡vÿ}yV j]p-o-°-tORa JfV nLY-¾LeV pLNfL Asv¢yOW¥ yUm-Ì]\ÿ v]w-hLU-

w°¥ RRWWLq|U R\áO-Ð-fV? 

(A) SvLt|U II kL¡ŸV II (B) SvLt|U I kL¡ŸV II 

(C)  SvLt|U I kL¡ŸV I (D) SvLt|U II kL¡ŸV I 
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70. Which among the following institution deals with 'Local funds'? 

(A) Grama Panchayat (B) University 
(C) Municipal Corporation  (D) All the above  

fLRu-Õ-r-pO-Ð-vp]¤ JfV òLk-j-oLeV ‘NkLSh-w]W lºV’ RRWWLq|U R\áO-Ð-fV? 

(A)  NYLo kμL-p-¾V (B) pPe]-SvuVy]ã] 

(C)  oO¢y]Õ¤ SWL¡Õ-Srx¢ (D) So¤Õ-r-´v-Rp-sæLU 

71. An officer under suspension had applied for 30 days surrender of earned leave. The superior 
officer sanctioned it. Mark suitable comment on the action of the superior  : 

(A) the act of the superior is valid  
(B) only 15 days earned leave can be sanctioned 
(C) the action of the superior is totally wrong and against rules  
(D) none of the above 

yRy×¢x-j]-sOç KqO DSh|L-Yò¢ 30 h]v-yR¾ J¦cV s}v]jV ASk-ƒ]-\ÿ]-qO-ÐO.  
SosO-Sh|L-Yò¢ AjO-of] j¤W]. SosO-Sh|L-Y-òR£ Nkv¡¾-j-R¾-¨O-r]\ÿV D\]-f-oLp 
An]-NkLpU SqX-RÕ-aO-¾O-W :  

(A)  SosO-Sh|L-YòR£ NkvQ¾] yLiO-f-pO-ç-fLeV 

(B) 15 h]v-yR¾ J¦-cV  s}v]-jO oLNfSo AjO-v-h]¨L¢ Wu]-pP  

(C)  SosO-Sh|L-YòR£ ja-ka] j]p-o°¥¨V If]-qL-eV  

(D) So¤Õ-r-´-v-RpL-ÐO-o-sæ 

72. While travelling in hilly tract the Class I Officers are entitled to draw —————  percentage 
of D.A/Mileage allowance towards hill tract. 

(A) 25% (B) 15% 
(C) 40% (D) 10% 

os-SpLq SoX-sp]¤ pLNf R\áOSÒL¥ WæLôV  I KLl}y¡oL¡¨V os-SpLq SoX-s-p]-Ss¨V  
c].I. /  RRoSs^V  Asv¢y]R£ ———— wf-oLjU IaO¨L¢ A¡z-f-pO-ºV . 

(A) 25% (B) 15% 
(C) 40% (D) 10% 

73. The details regarding legal heirs eligible for family pension were dealt in : 

(A) Rule 90 Part I KSR (B) Rule 90 Part II KSR 
(C) Rule 42 Part III KSR (D) None of the above 

WOaOUm Rk¢xjV A¡z-f-pOç j]p-o-k-q-oLp Av-WL-w]-WRt yUm-Ì]\ÿ v]w-hLU-w°¥ 
v]v-q]-¨O-Ð-fV : 

(A)  \ŸU 90 kL¡ŸV I RWI-yVB¡   (B) \ŸU 90 kL¡ŸV II RWI-yVB¡ 

(C)  \ŸU 42 kL¡ŸV III RWI-yVB¡ (D) So¤Õ-r-´-v-RpL-ÐO-o-sæ 



A DE-07/2023/001 
[P.T.O.] 

23

74. The qualifying service of a staff nurse was 9 years and 2 days. The pension sanctioning 
authority rounded of to 10 years. Mark a comment on this : 

(A) It is an example of ordinary rounding  

(B) The act of the officer is void 

(C) It is an example of special rounding  

(D) 9 years and 6 months is needed for rounding of to 10 years 

KqO ðLlV Sjuõ]R£  SpLY|fL SyvjU 9 v¡xvOU 2 h]v-yvOU Bp]-qO-ÐO. Rk¢x¢ AjO-

v-h]-¨OÐ Ai]-WLqU 10 v¡x-oL-¨]. Cf]-Rj-¨O-r]\ÿV An]-NkLpU SqX-RÕ-aO-¾O-W : 

(A)  CfV yLiL-qe RrTº]UY]R£ DhL-z-q-e-oLeV 

(B) DSh|L-YòR£ NkvQ¾] AyL-iO-vL-p]-q]-̈ O-ÐO  

(C)  CfV NkSf|W rTº]°]R£ DhL-z-q-e-oL-eV   

(D) 10 v¡xU rTº]-jV 9 v¡xvOU 6 oLyvOU Bv-w|-oL-eV 

75. An LDC was granted first time bound higher grade without passing the department test. 
Mark suitable comment on this : 

(A) Yes, it can be granted  (B) No, it cannot be granted  

(C) The scale of the UDL can be granted  (D) None of the above 

c]ÕL¡ŸVRo£V  Rað]¤ v]^-p]-¨LRf KqO I¤.c].y].¨V  Bh|-oLp] Dp¡Ð SNYcV j¤W]. 

Cf]-Rj-¨O-r]\ÿV D\]--f-oLp An]-NkLpU SqX-RÕ-aO¾OW : 

(A)  ARf, CfV AjO-v-h]¨L¢ Wu]-pOU  

(B) -C-sæ, AfV AjO-v-h]¨L¢ Wu]-p]-sæ 

(C)  pOc]-Isæ]R£ RØp]s]¤ AjO-v-h]¨L¢ Wu]-pOU  

(D) So¤Õ-r-´-v-RpL-ÐO-o-sæ 

76. Maternity leave eligible for part time contingent employees is –––––––––– days.  

(A) 90 (B) 120 

(C) 180 (D) 60 

kL¡ŸVRRaU SWLº}^£V ^}v-j¨L¡¨V A¡z-f-pOç Nky-vL-vi] h]v-y°¥ BeV : 

(A) 90 (B) 120 

(C) 180 (D) 60 
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77. KSR is applicable to which among the following : 

(A) Those who entered into service on or after 1.11.1956 
(B) Contingent employees 

(C) NMR employees 

(D) Personal staff of ministers other than Govt. employees 

fLRuÕ-r-pO-Ðvp]¤ RWI-yVB¡ mLi-W-oL-eV  : 

(A)  1.11.1956 SjL Af]jO SwxSoL Syv-j¾]¤ NkSv-w]-\ÿv¡¨V 

(B) BW-yÜ]W ^}v-j¨L¡  

(C) I¢.IU.B¡. ^}v-j¨L¡    

(D) y¡¨L¡ Ku]-RW-pOç oNÍ]-oL-qORa v|©]-Yf ^}v-j¨L¡ 

78. Which among the following is a compensatory allowance? 

(A) Uniform allowance (B) Hill tract allowance 

(C) Project allowance (D) All the above 

fLRu-Õ-r-pO-Ð- Syv-j-°t]¤ JfLeV SWLÒ¢Sy-ãr] Asv¢yV? 

(A)  pPe]SlLU Asv¢yV (B) z]¤ NaLWVãV Asv¢yV 

(C)  RNkL^-WVãV Asv¢yV (D) So¤Õ-r-´-v-Rp-sæLU 

79. Which among the following service does not count for increment? 

(A) Joining time period 

(B) Suspension period regularised as LWA 

(C) Service on deputation 

(D) All the above 

fLRu-Õ-r-pO-Ð- Syv-j-°t]¤ JfLeV C¢NW]Ro£]jV v]Si-p-o-sæL-¾fV? 

(A) S\qOÐ WLs-p-t-vV  

(B) yRy×¢x¢ WLs-Lvi] LWA Bp] NWo}-W-q]-\ÿO 

(C) Rck|P-SŸ-xj]¤ Syv-jU    

(D) So¤Õ-r-´-v-Rp-sæLU 
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80. An officer in health department travelled to sabarimala in connection with his official duty. 
The total distance travelled is 175 kms, of which 75 kms is through hill tract area. He is paid 
hill tract allowance for 175 kms. Mark a comment on this : 

(A) Hill tract allowance is admissible only for 75 kms 

(B) Hill tract allowance is admissible for 175 kms 

(C) No hill tract allowance is admissible 

(D) None of these 

BSqLY| vWO-Õ]Rs KqO DSh|L-Yò¢ fR£ KTSh|L-Y]W c|PŸ]-pO-oLp] mÌ-RÕŸV wm-q]-o-s-
p]-Ss¨V  pLNf R\pÅO. yμ-q]\ÿ RoL¾U hPqU 175 W]SsL-o}-ã-rL-eV, Af]¤ 75 W]SsL-o}ã¡ 
os-SpLq SoX-s-p]-sP-Ra-pL-eV yμ-q]-\ÿ-fV. ASÇ-z-¾]jV 175 W]SsL-o}ã¡ z]¤ NaL¨V 
Asv¢yV sn]-¨O-ÐO. Cf]-Rj-¨O-r]\ÿV KqO An]-NkLpU SqX-RÕ-aO-¾O-W : 

(A)  os-SpLq SoXs Asv¢yV 75 W]SsL-o}-ã-r]jV oLNfSo AjO-v-h-j}-p-oLWP 

(B)  os-SpLq SoXs Asv¢yV 175 W]SsL-o}-ã-r]jV  AjO-v-h-j}-p-oLeV 

(C) os-SpLq SoXs Asv¢yV y~}WL-q|-o-sæ   

(D) Cv-RpL-ÐO-o-sæ 

81. For journeys in department vehicle the ceiling limit will be reduced to : 

(A) 75% (B) 60% 

(C) 40% (D) None of these 

c]ÕL¡ŸVRo£V vLz-j-°-t]Rs pLNfW¥¨V kq]i] ————— Bp] WOr-àOU. 

(A) 75% (B) 60% 

(C) 40% (D) Cv-RpL-ÐO-o-sæ 

82. In case of deputation, payment of pension contribution should be : 

(A) 15% of the maximum of scale of payable by the Government 

(B) 25% of the maximum of scale of pay 

(C) No pension contribution payable by foreign employer 

(D) 15% of the maximum of scale of pay to be remitted by the foreign employer 

Rck|P-SŸxR£ WLq|¾]¤, Rk¢x¢ yUnL-v-j-pORa AavV CNk-WL-q-oL-p]-q]-¨-eU : 

(A)  y¡¨L¡ Aa-Sàº kq-oL-vi] RØp]s]R£ 15%  

(B) kq-oL-vi] wÒ-t-RØ-p]s]R£ 25% 

(C)  v]Shw RfLu]-sO-ao Rk¢x¢ yUnL-vj j¤SW-º-f]-sæ  

(D) v]Shw RfLu]-sO-ao j¤SWº kq-oL-vi] wÒt RØp]s]R£ 15% 
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83. Which among the following service do not count for probation : 

(A) Compensation leave 

(B) Casual leave 

(C) LWA under appendix XII A 

(D) Deputation period 

fLRu-Õ-r-pOÐ Syv-j-°t]¤ JfLeV RNkLSm-x-jLp] We-¨L-¨L-¾-fV? 

(A)  SWLÒ¢Sy-x¢ s}vV  

(B) WLx~¤ s}vV 

(C)  AjO-mÌU XII  I W}u]¤ LWA  

(D) Rck|P-SŸx¢ WLsL-v-i] 

84. The maximum period of leave not due eligible in the entire service is limited to : 

(A) 180 days (B) 360 days 

(C) 100 days (D) 365 days 

oOuOv¢ Syv-j-¾]sOU A¡z-f-p]-sæL¾ Av-i]-pORa kq-oL-vi] WLs-p-tvV  kq]-o]-f-RÕ-aO-
¾]-p]-q]-¨O-ÐfV : 

(A) 180 h]v-yU (B) 360 h]v-yU 

(C) 100 h]v-yU (D) 365 h]v-yU 

85. An LDC entered into service on 1.5.2006. He was promoted as UDC on 1.9.2009 and as H.C 
on 1.12.2014. On completion of 15 years of service he claimed for 2nd TBHG. Is he eligible for 
2nd TBHG : 

(A) No, he is not 

(B) Yes he is eligible 

(C) Eligible on completion of 16 years of service 

(D) None of these 

KqO I¤.c].y]. 1.5.2006 ¤ y¡vÿ}y]¤ NkSv-w]-\ÿO. 1.9.2009&¤ pO.c].y] BpOU  
1.12.2014 ¤ I\ÿV.y]. BpOU òLj-¨-pãU sn]-\ÿO. 15 v¡xR¾ Syv-j-U kP¡¾]-pL-¨]p 
ASÇzU qºLU a]m]-I-\ÿV^]-àLp] Av-WLwU DÐ-p]-\ÿO. Av¢ qºLU a]m]-I-\ÿV-^]àV  
SpLY|-jL-SeL? 

(A)  Csæ, Av¢ SpLY|-j-sæ  

(B) ARf, Av¢ SpLY|-jL-eV 

(C)  16 v¡xU kP¡¾]-pL-¨OSÒL¥ SpLY|-jL-eV  

(D) Cv-RpL-ÐO-o-sæ 
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86. D.A. is not admissible for halt exceeding 10 days at a place. Mark a comment on this 
statement : 

(A) Not admissible 
(B) Admissible 
(C) Admissible with the proper sanction of the competent officer 
(D) All the above 

c].I. KqO òs¾V 10 h]v-y¾]¤ WPaOf¤  j]¡¾O-Ð-f]-jV AjO-v-h-j}-p-o-sæ. CT NkñL-v-
jp]¤ An]-NkLpU SqX-RÕ-aO-¾O-W : 

(A)  y~}WL-q|-o-sæ  

(B) y~}WL-q|-oL-eV 

(C)  SpLY|-f-pOç DSh|L-YòR£ wq]-pLp AjO-o-f]-SpLRa y~}WL-q|-oL-eV  

(D) oOWt]¤ kr-´-v-Rp-sæLU 

87. A joint director in State Audit department hold additional charge of another office 
continuously for six months. The charge given is fall additional charge. He claimed charge 
allowance for six months and the Superior officer granted it. Mark a comment on this : 

(A) The superior’s act is as per rule 
(B) The superior is wrong as charge allowance is limited to a maximum of three 

months  
(C) No charge allowance applicable 
(D) None of these 

yUòLj KLc]ãV vWO-Õ]Rs KqO S^Lp]£V cp-rW›¡ BrV oLy-S¾¨V fOa¡\ÿ-pLp] oRãLqO 
KLl}y]R£ Ai]W \Oo-fs vz]-¨O-ÐO. j¤W]-p]-q]-¨OÐ \L¡²V Ai]W \L¡²L-eV. 
BrV oLyR¾ \L¡²V Asv¢yV ASÇzU RWæp]U R\áO-WpOU yOÕ}-q]p¡ KLl}y¡ AfV 
AjO-v-h]-¨O-WpOU R\pÅO. Cf]-Rj-¨O-r]\ÿV An]-NkLpU SqX-RÕ-aO-¾O-W : 

(A) SosO-Sh|L-YòR£ NkvQ¾] \ŸU AjO-y-q]-\ÿLeV 

(B) \L¡²V Asv¢yV kq-oL-vi] oPÐO oLy-S¾¨V kq]-o]-f-RÕ-aO-¾]-p-f]jL¤ 
SosO-Sh|L-Yò¢ R\pÅfV RfãL-eV 

(C) \L¡²V Asv¢yV mLi-W-o-sæ   

(D) Cv-RpL-ÐO-o-sæ 

88. –––––––––– allowance is a monthly allowance granted to an employee who is dismissed from 
service. 

(A) Compensatory (B) Personal 
(C) Compassionate (D) Statutory 

y¡vÿ}y]¤ j]ÐOU k]q]-\ÿO-v]-aOÐ KqO ^}v-j-¨L-qjV j¤WOÐ Nkf]-oLy Asv¢yLeV  
—————— Asv¢yV. 

(A)  SWLUk¢Sy-ã-r] (B) Sk¡ye¤ 

(C) WUkL-x-Sj-ãV (D) ðL\ÿO-Ÿ-r] 
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89. Which among the following service do not count for pension? 
(A) Boy service (B) Dismissal 
(C) Daily wage (D) All the above 

fLRu-Õ-r-pOÐ Syv-j-°-t]¤ Rk¢x¢ We-¨L-¨L-¾fV JfL-eV? 

(A)  B¦-WO-Ÿ]-W-tORa Syv-jU (B) k]q]-\ÿO-v]a¤ 
(C) RRhjU-h]j Svf-jU (D) So¤Õ-r-´-v-RpsæLU 

90. Which among the following leave can be combined along with LWA under appendix XII C? 
(A) Casual (B) Half pay 
(C) Earned (D) None of the above 

fLRu fÐ-vp]¤ JfV s}vLeV AjO-m-ÌU XII y] NkWL-qU LWA pOoLp] 
yUSpL-^]-Õ]-S¨-º-fV? 

(A) WLx~¤ (B) zLlV Sk 
(C)  J¦-cV (D) -So¤Õ-r-´-v-RpL-ÐO-o-sæ 

91. In case of inter departmental transfer second increment in the new department can be 
sanctioned : 

(A) After the declaration of probation in the new department 
(B) Completion of two years of service 
(C) After the declaration of probation in the old department 
(D) None of these 

C£¡ c]ÕL¡ŸVRo£V NaL¢ó¡ BReË]¤ kOf]p vWOÕ]¤ qºLU C¢NW]Ro£V  
AjO-v-h]-¨OÐfV : 

(A)  -kO-f]p vWOÕ]¤ RNkLSmx¢ NkX|L-k]-\ÿ-f]-jO-SwxU 
(B) qºV v¡xR¾ SyvjU kP¡¾]-pL-¨]-p-f]-jO-Sw-xU  
(C) kup vWOÕ]¤ RNkLSmx¢ NkX|L-k]-\ÿ-f]-jO-Sw-xU  
(D) Cv-RpL-ÐO-o-sæ 

92. An LDC joined in a Grama Panchayat on 1.9.2021. The Secretary granted him 20 days casual 
leave till 31.12.2021. Mark a comment on this : 

(A) The act of the secretary is valid 
(B) The act is void 
(C) Maximum leave should have been restricted to eight 
(D) None of these 

KqO I¤.c].y]. KqO NYLo-k-μL-p¾]¤ 1.9.2021&¤ S\¡ÐO. RyNW-Ÿr] ASÇ-z-¾]jV  
31.12.2021 vRq 20 h]v-yR¾ WLx~¤ s}vV AjO-v-h]-\ÿO. Cf]-Rj-¨O-r]\ÿV An]-NkLpU SqX-
RÕ-aO-¾OW  : 

(A)  RyNW-Ÿ-r]-pORa NkvQ¾] yLiO-f-pO-ç-fLeV 
(B) NkvQ¾] AyL-iO-vL-p]-q]-¨O-ÐO  
(C) kq-oL-vi] Avi] IŸLp] kq]-o]-f-RÕ-aO-¾-eU  
(D) Cv-RpL-ÐO-o-sæ 
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93. Pension ceases to be payable if it remains undrawn for a period of –––––––––– years. 

(A) 10 (B) 5 

(C) 3 (D) 7 

Rk¢x¢ ————— v¡x-°-StLtU vqLRf W]a-¨OÐORvË]¤ Rk¢x¢ j¤WOÐfV 

CsæL-fL-WOU. 

(A) 10 (B) 5 

(C) 3 (D) 7 

94. A Government officer travels for conducting university business will receive T.A from : 

(A) State treasury (B) University 

(C) No T.A payable (D) None of these 

KqO y¡¨L¡ DSh|L-Y-ò¢ pPe]-Sv-uõ]ã]  WLq|°¥àL-p] pLNf R\áOSÒL¥  a].I.  

———— j]ÐV sn]¨OU. 

(A)  SðãV Nax-r] (B) -pO-e]-Sv-uõ]-ã] 

(C)  a].I. j¤SW-º-f]-sæ (D) Cv-RpL-ÐO-o-sæ 

95. Rule 56 of part III KSR deals with : 

(A) Classification of pension (B) Compassionate allowance 

(C) Differential gratuity (D) Voluntary retirement 

\ŸU 56 kL¡ŸV III RWIyVB¡ v]v-q]-¨O-Ð-fV : 

(A) Rk¢x¢ fqU-f]-q]¨¤ (B) WUkL-x-SjãV Asv¢yV 

(C) c]lr¢x¤ NYLãO-v]-ã] (D) y~So-ipL v]q-o]¨¤ 

96. Advance increment can be sanctioned by : 

(A) The Government  

(B) A.G. 

(C) Drawing and disbursing officer  

(D) Department director 

oO¢WP¡ v¡È-jvV AjO-v-h]-¨O-Ð-fV : 

(A)  YvR½£V  

(B) I.^]. 

(C)  SNcLp]°V B£V c]yV-Sm-uõ]-°V KLl}y¡  

(D) c]ÕL¡ŸVRo£V cp-rW›¡ 
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97. If the transfer is within headquarters and the officer is relieved on the F.N. of Saturday, then 
he should report for duty on : 

(A) Monday F.N (B) Friday F.N 

(C) Tuesday F.N (D) Saturday A.N 

òsU oLãU RzcVW~L¡SŸ-uõ]-sL-ReË]¤, DSh|L-Y-ò¢ v]oO-©-jL-WO-ÐfV F.N. wj]-pL-uV-\, 

fOa¡ÐV Av¢ c|PŸ]¨V r]SÕL¡ŸV R\Sá-ºfV  : 

(A) f]Ë-tL-uV-\ F.N. (B) Rvç]-pL-uV\ F.N. 

(C)  R\LvÿL-uV\ F.N. (D) wj]-pL-uV\ A.N. 

98. Joining time is treated as duty for the purpose of : 

(A) Qualifying service for pension (B) Increment 

(C) Earned leave (D) All the above 

S^Ls]¨V S\qOÐ yo-pU fLRu-Õ-r-pOÐ Bv-w|°¥¨Oç Wa-o-pLp] We-¨L-¨OÐO. 

(A)  Rk¢xjV SpLY|-f-pOç SyvjU  (B) C¢NW]Ro£V 

(C)  J¦cV s}vV (D) So¤Õ-r-´-v-Rp-sæLU 

99. Exgratia pension was introduced with effect from : 

(A) 1.10.2001 (B) 1.12.2001 

(C) 1.10.1999 (D) 1.10.2002 

IWõV-SNYx|L Rk¢x¢  j]sv]¤ vÐ-fV : 

(A) 1.10.2001 (B) 1.12.2001 

(C) 1.10.1999 (D) 1.10.2002 

100. In the case of anticipatory pension –––––––––– percentage of DCRG only be authorized. 

(A) 75 (B) 50 

(C) 100 (D) 55 

oO¢WP¡  Rk¢xR£ WLq|¾]¤  ————— wf-oLjU c]y]B¡^]-  oLNfSo  

Ai]-WL-q-RÕ-aO-¾L-vP. 

(A) 75 (B) 50 

(C) 100 (D) 55  

                                          ———————— 
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